2 4 i pR £



BHE S5 & i &% T

REHFHEER 2B —a@% R
h & = RXEREERK

e ‘£ i
oL 1|=|( )
i % Tk
Axsm  TER

81 42 W R &t



BB ERS B (CIP) ¥ #E :

BE#HFH¥ AR 2EE —HEEREF(OFFRET LM/ Kl ER. — L - H4EH
it ,2003. 11

ISBN 7-5054-0842-9

L@ I3k I.REFE—RFBFHFFHEA—ME V.H3l-u

B R A B 4548 CIP B8 B 5 (2003) 58 082201 5

b
e
I

T @& ¥k #
BERE W ;B AR
BARE REZ
#Hm@igt & W
BREEESH & W
HR&ZIT BI%EHERE
H EEWEAEFRE 355 - EBBISAS 100044
i& (010)68433166
(010)68413840/68433213 (R4THE)
H (010)88415285
Bl Ak Tk i RRALEp R T
EEFEBE
16 JF ¥ #, 150 FF
0—10000 Ep ¥ 6.75
2003 4F 11 A% 1 W5 1 WEPRI
SF.
ISBN 7-5054-0842-9/G. 0278
12. 00 J©

& P

B 3t 8 F 2 HBN 3 &
S a2 HZFHNR

WAURAR  BIEILS - EERAR RARAHK



Infroduction % B84

HHGE AERIIAE, ATFHARNFANELBHGERRBLESE. THZR. FHM
Ik BB A M EFERA T, 2EEELH 800 5 A KM A FIA &g, AR A E D
ZEH, BEIBRZRANEEHIAS.

ETAFHEMBARNLSESEEREE, FTEELBMUERKITARE.

ANBRFEER: EREPRBRER, SEELNIEREHRKBERAVIGRRT A CHOR
BHE., LRNRES, FRAC2FIMMIRER. FHRER, MIERERENRE
AR LS

AABRAMTRA:

1. UBELZENRHEINERFRE, ¥ THEELEANAL TSEER, MERM M EiH
RN PT R S B, Mt . AT ERR, DABGGEMES . RAF SRR E, ANH
Bh % A 41 4R B E '

2. UEBHER, EMATEIBRPHEZMRAREAH#TTHALS, EERFELEE
MRBZAEBEMRENEES.

3. MANBER, HEHEEKREZMEE, EERBEEMBERS, hRMREEKE.

4. BEERERBEFERAAS, TRFHHFTEREL. BRFGURBRAEZ TN M@,
ARTRAFEMBMFLOSERMKEBS, ATRETLEAZE %K.

5. AEMLA AT, Ho#T TR, RAERRTAAR, ReRAVGER, fF

EEBEES.
’ AENABMREBEKPNEESHTAEEAN —KBETHENNEER, AAEFEEMN
HEWSZRK, FFMSHEENARRETRYE %L, ZR I KEEMBEMIESR. B
HEAABHHBRETEMT KEEMAETEXERNRBROEIER. RINTAREG L F4E
7 2% i P 1S AR A0 B4R .

&
2003 % 11 A



CONTENTS B

2000 LA ERSUTELERLEL—RBERRT (=) RB v (1)
2(){)() HEFEERERTAY LR AL —-FEEREE (—) RBRLEM v vvrremsninsnnnninnin. (8)
2000 E TRERSHTHEERLEE—QFEEREE (—) BB (14)
2000 E P A EREHE AY lju\‘/}\pgjﬁaﬁ}@g—ﬁ%;g (—) BB TERTEM e (21)
200l £ LA EREBEFREERL2EL —FEEREE (—) B (27
2001 4E LY EREHBEAYERLEE —-GEERAEE (—) TR ST ATl oo evvvermensnn v (34)
2001 ﬁT#fgﬁgg‘ggfp#ﬁggﬁ—ﬁgjﬁixﬁ (=) ﬁg (40)
200 ERFPAE@EHFTAY LIRS EE G ERIIE (—) BT TEf e (47)
202 £ L ERSUTEESRARE—MEERETE (=) BB (52)
20024F PP AEREHE Y SR SELE LR IE (—) BB RTEM e (58)
200 ETLERSHTHLERLEE—RMEREE (=) BB errmrmr i e (64)
2002 FEFHEREHFTAY FIRAESE —mEERIE (—) REREEF e (71)
2003 4E 1 Hin @& FAY X ReESE —mBEREE (—) TR TE QTR vevee e reesmevnneennniinii s (84)
2003 ﬁi¥$ﬁ$ﬁ§ﬁ¥%ﬁéﬁﬁ—‘ﬁﬂ%‘ﬂ§§ (=) FBprrrerrrrrmrerri e (89)
2003 4 F ¥ EBLSHBFAYERLEAL - MBI L REIE (=) BB oooreeremsvsrnninannnne (95)



FERsEEER
2000 F L ¥ FBERFAF A RLE L —w AL R
BiE(—) G

PART ONE

1. Vocabulary and Structure(10 points,1 point for each)
ATHEANEP ERPEH - ITREEFR,HAEXARLBEEHFERR,
1. Some people who are very intelligent and successful in their fields find - difficult to
succeed in language learning.
A. them B. themselves C. it D. itself [ ) |
2. Television ads are short,but they are repeated over and over again the audience sees

~and hears them many times.

A. in that B. so that C. as to D. so as [ )|
3. The Atlantic Ocean is only half as big as the Pacific, . it is still very large.

A. but B. and C. so D. therefore [ )|
4. No one has been able to prove that fish is better for the brain than many other kinds

of food.

A. some B. so C. as D. any [ ) |
5. Tomatoes were once called love apples and were supposed to make those who ate them

in love.

A. fell B. feel C. fall D. felt ’ [ ) |
6. Washing food down with water as a for chewing is not a good habit.

A. direction B. substitute C. possibility D. resource [ ) |
7. It is important to realize that the same technology helps us may also harm us.

A. as B. that C. what D. when [ ) |
8. Science began to develop rapidly when man laid his wrong beliefs and began to seek

true explanations.

A. out B. down C. aside D. outside [ ) |
9. Remember,nothing hurts concentration reading too slowly. _

A. rather than B. as well as C. more than D. instead of [ ) |
10. More and more people are realizing that there is a between heart disease and the

way one lives.

A. correspondenceB. comparison C. connection D. consequence g [ )|

[I. Cloze Test(10 points,1 point for each)
THEXETAZEH,. 840 Z8F0H M EN, RELTXERZHEEER , HEEER L
BHEENFERR.

Fear and its companion pain are two of the most useful things that men and animals possess,
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if they are properly used. If fire did not hurt when it burnt, children would play with it 11 |
their hands were burnt away. 1 2 ,if pain existed but fear did not,a child would burn itself a-
gain and again, because fear would not 1 3 it to keep away from the fire that had burnt it be-
fore. Fear and pain are therefore two guards 14  which men and animals might soon die out.

In the first sentence we suggest that fear ought to be properly used. If, 15 ,you never go
out of your house 16 of the danger of being knocked down and killed in the street by a car,
you are letting fear rule you too 17

Even in your house you are not absolutely 1 8 ." :an airplane may crash on your house or
you may get cancer!

The important thing is not to let fear rule you,but 19 to use fear as your servant and

guide. Fear will warn you of dangers; 2 0 you have to decide what action to take.

11. A. because B. if C. though D. until [ )|
12. A. Generally B. Probably C. Similarly D. Consequently [ ) |
13. A. warn B. request C. manage D. protect [ )|
14. A. with B. without C. for D. against [ ) |
15. A. after all B. by chance C. for example D. in fact [ )|
16. A. regardless B. because C. in terms D. in front [ ) |
17. A. little B. more C. many D. much | G |
18. A. firm B. calm C. safe D. strong [ ) |
19. A. instead B. better C. similarly D. further [+ )
20. A. then B. otherwise C. likewise D. even [ ) |

. Reading Comprehension(30. points,2 points for each) _
ANTISREXHREEREHNENEERPEH I REER, FEEERLBHEAENTF
BRRo

Passage One

Questions 21 to 25 are based on the following passage.

The problem of leisure is new. Until very recent times people worked each day to the limit of
their strength. Of course there were always a privileged (5 44U #J) few who had leisure; but most
men had to work 12,14,0r even 16 hours a day,six days a week. As late as 1840 the average fac-
tory worker labored 72 hours a week. “Sunup to sundown”was the farmer’s day,or as another
phrase puts it,“from can to can’t, ”

Today,working less than a 40-hour week, people enjoy more leisure time. Hence, the wise
use of leisure time has become an important problem for everyone,young or old. It is a particular-
ly difficult problem for the sick,the aged,and those who have retired from earning a living. Those
people have so much leisure that it is hard for them to find interesting and worthwhile ways to
use it.

However short the work week becomes,work is still the most important part of life. We do

not work to get leisure and the pleasures leisure brings us;rather, we use leisure wisely so that

3 X 5 (=
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work itself can become awarding and enjoyable. The feeling of success at doing one’s daily
work—whether it is a job, maintaining a home,or going to school—depends largely on coming to
it each day with fresh energy and active interest.

Leisure and recreation (JH i) go together, though they are not necessarily the same thing.
“Recreation”has an obvious meaning. It is the kind of leisure activity that brings“re-creation” of
strength and spirit. When one speaks of making good use of leisure, he means choosing recrea-

tional activities which contribute to health,growth,and spirit.

21. The phrase“from can to can’t”in Paragraph 1 means

A. from beginning to end B. from birth to death

C. from morning to night D. from time to time [ ) |
22. How to spend leisure time wisely is not a particularly difficult problem for people

A. who are very busy everyday B. who are sick in bed

C. who are aged and in good health D. who have retired from work [ ) |
23. How does the author look at work and leisure?

A. We work hard so that we can enjoy more leisure.

B. We enjoy leisure so that we can come back to work with fresh energy.

C. Leisure can bring us a lot of pleasures that work can not.

D. The success of work has little to do with how we spend our leisure time. [ ) |
24. What is the relationship between leisure and recreation,according to the author?

A. Leisure and recreation are closely related.

B. Leisure and recreation are identical.

C. Recreation covers all kinds of leisure activities.

D. Recreation does not belong to any leisure activity. ) [ ) |
25. From the passage we know that

A. leisure has been an old problem since ancient times

B. leisure can not be replaced as the most important part of life

C. our success in work is mostly determined by whether we use leisure wisely

D. good recreational activities contribute greatly to health,growth and spirit [ ) |
Passage Two

Questions 26 to 30 are based on the following passage.
_ Each nation has its own peculiar character which distinguishes it from others. But the peo-
ples of the world have more points in common than points in which they differ. One type of per-
son that is common in every country is the one who always tries to do as little as possible and to
get as much as possible in return. His opposite,the man who is in the habit of doing more than is
strictly necessary and who is ready to accept what is offered in return,is rare everywhere.

Both these types are usually unconscious of their character. The man who avoids effort is al-
ways talking about his“rights”: he appears to think that society owes him a pleasant, easy life.

The man who is always doing more than his share talks of “duties” : he feels that the individual is

= B = %
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in debt to society, and not society to the individual. As a result of their views, neither of these
men thinks that he behaves at all strangely.

The man who tries to do as little as he can is always full of excuses:if he has neglected to do
something,it was because he had a headache,or the weather was too hot—or too cold—or because
he was prevented by bad luck. At first,other people,such as his friends and his employer, gener-
ously accept his stories; but soon they realize what kind of person he is. In the long run he de-
ceives only himself. When his friends become cool towards him and he fails to make progress in
his job,he is surprised and hurt.. He blames everyone and everything except himself. He feels

that society is failing in its duties towards him,and that he is being unjustly treated.

26. The central idea of Paragraph 1 is that

A. each nation is peculiar enough to enable us to distingvish it from others

B. the peoples of the world are as alike as they are different

C. the peoples of the world have more similarities than differences

D. those who do more than is strictly necessary are common in every country [ ]
27. According to Paragraph 1, the man who does more than is required

A. is ready to accept what the society offers him

B. expects nothing in return for his work

C. feels that he is under heavy debt -

D. thinks this makes his life easy [ |
28. Those who try to do as little as possible

A. envy others’ good luck

B. are good story-tellers

C. supply false reasons for their lack of responsibility

D. think that their opposites owe them a pleasant life [ ) |
29. The phrase“in the long run” (Paragraph 3)is closest in meaning to “ %

A. in practice B. in the end

C. in effect D. in no time [ ) |

30. It can be inferred from the passage that people who cheat
A. will be unjustly treated
B. will cheat only themselves eventually
C. will change their behavior

D. will get surprised by their own stories [ )|
Passage Three

Questions 31 to 35 are based on the following passage.

The government may control prices when there is a problem such as rapidly increasing rents
or a rise in the cost of living. When the government controls prices, there is no longer a normal
relationship between the price of a product and the quantity consumers will buy. Government

controls may help in an emergency (& & 1§ #.). However, some economists believe that controls
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can have negative effects over a long period of time.

In cities with rent control, the city government sets the maximum rent that a landlord(& F)
can charge for an apartment. Supporters of rent control argue that it protects people who are liv-
ing in apartments. Their rent cannot increase; therefore, they are not in danger of losing their
homes. However,the critics (##F 3 ) say that after a long time, rent control may have negative
effects. Landlords know that they cannot increase their profits.. Therefore, they invest in other
businesses where they can increase their profits. They do not invest in new buildings which
would also be rentcontrolled. As a result,new apartments are not built. Many people who need a-
partments cannot find any. According to the critics, the end result of rent control is a shortage of
apartments in the city.

Economic theory predicts the results of economic decisions such-as decisions about rent con-
trol, price control and the minimum wage. The predictions may be correct only if “other things
are equal ”.

Economists do not agree on some of the predictions. They also do not agree on the value of
different decisions. Some economists support a particular decision while others criticize it. Econ-

omists do agree,however, that there are no simple answers to economic questions.

31. According to Paragraph 1, price control i

A. does more harm than good

B. is good in every sense

C. is necessary but harmful in the long term _

D. should be avoided [ ]
32. It can be inferred from Paragraph 2 that §

A. thanks to rent control,it would be easier for many to find apartments

B. landlords may take back their apartments if the rent is too low

C. the tighter the rent control is,the less new apartments will be built

D. landlords will not invest in other businesses after price control is approved by the govern-

ment ‘ f: 1
33. Which of the following do all economists agree on?

A. Controls can have negative effects over a long period of time.

B. The government must take measures to control rent increase.

C. The maximum rent system protects people who don’t have their own houses.

D. Economic questions are difficult do deal with. [ )|
34, The attitude of the author to price control is 3

A. subjective B. objective

C. indifferent D. supportive [ |

35. The purpose of this passage is to
A. argue B. persuade C. analyze D. describe [ ) |
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PART TWO

Word Spelling (10 points,1 peoint for two words)
BTIHNELAFRAFHSEEEARL, SMANRAXNE— I FHCESTERLEH,

BEFBENSKEKXLAT-1F4,

36.
. 38.
40.
42.
44.
46.
48.
50.
52.
54.

V.

56.
57.
58.
99.
60.

61.

62.

63.
64.
65.

¥ -

66.
67.
68.
69.
70.

"% n. s 37. 2R adj: P

B4 n pud _wap g 39. B¥v.p_

H£ERER adj. v 41 Bk vooc Lo b

5EEW adj.p_ 431 R, <ils o) wmiban

A% v o _ 45, LD . b

BB npadls encizizah = 47. M n. b

WEM adj. h 49, B¥ v i

BEBAR . 51. &M adj. 1__

EE;Af§n m_ 53. M v. o

B2 iz g 55, #ME v 0110 s1imo

Word Form(10 points,1 point for each)

BRESHPTNEATHELHEARAANZH, ERXFEZFEK L,

Sometimes information in the long-term memory (be)hard to remember.
In the 1600’s,travelers from Europe (bring) back diamonds from India.
Insurance fundamentals can (understand) by those willing to study them.
He wanted the letter (mail)at once.

We become used to (see) blood on the news on television, or in"full color in news-

papers and magazines.
As a generally (accept) medium of exchange, money rules out the need for the direct

exchange of one item for another.

Almost everyone spends a considerable amount of present moments (worry) about
the future.

Our region (make) great advances over the past ten years.

Well-organized material is (well) remembered than jumbled information.

If we (not have)air,there would be no sound.

Translation from Chinese into English(15 points,3 points for each)
BTINEAEHRBEHRERTETELR L,

XYIEERU, ARIERE L HEFERE.

P8 VA ez RE Y R SR G O\ BE BRLASBUB —#F RR.

BEREXME —SEBK, MO LZILEASEMEOFREFT .
BRI GHEMAMBENEEFAES.
ERBAE SR ZL ANRRLLIER?
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VI. Translation from English into Chinese(15 points)

BTHEXERNEHRERSETERL,

Many of the plants and animals from which our food comes can produce themselves quite
well without our help. Fish,for example,live and breed according to their own life pattern. Hu-
man “producers” then come with nets and fishing poles to take the fish from the water.

In our specialized world, however, it is not always possible to let our food grow in its own
way. A relatively small number of people are responsible for producing large quantities of food.
In order to perform such a function effectively, it is necessary for them to raise cattle and grow
crops in fairly concentrated area.

Fishing, livestock(% % ) breeding,and fruit, vegetable,and grain growing are among the more

commonly known food-production industries.
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PART ONE

Vocabulary and Structure
Lanalysis] ppi) EiEp#E BN, @EA P it B X EERE IEALERE to succeed in lan-
guage learning, HtAb HEEM it 451 . ME . FRESAFOBPREAERRNALEES
23] EH SCELLRZN .
[keyl i% C. it,

. [analysis] FR“DZETFHGERREND. AR B0 88 H-BEEUBRAAT T

HEK.
[key) i% B. so that,

. [analysis] #1535 4 09 8 SCAH B4, 800 fH but, A& . KTEERA K FERN—E K. BEMN

RK”. AP EHEHREF LB,
[key]l % A. but,

. [analysis] /&) & A % &8 no, 3k any SZHX . A& EGBEIEAZALZHMBTES

BamE N,
[key]l] # D. any,

. [analysis] love apple (BFERIIELAM TS fall in love (7R E) X R, 8 A fall, 4

B HamEsMEFER AMMHEGFZENASRAZN.
[keyl i C. fall,

. [analysis] HEN“BAKURBFHEET T EWHFIEFIM”, substitute [T &, H 37 5937

BARAE.
[key]l 3% B. substitute,

. Kanalysis] #)HEFHMA that, F—4> that 5 HEIFENE,HE -4 that 5IHEBEBNE . A&,

INERENERBEREBRIT . CTRERMNEBEEN.
[key]l i% B. that,

- Lanalysis] AR A B ERBAGKR ENE, ENAFAT lay aside “MIF" 1 &, A& .

BANEBAERFEEMABRERERBEN PERTFRREZRT .

[keyl % C. aside,

[analysis] nothing ... more than BRIMBHIE ., EE N “H A LA | oeeee I ssass T, AR
FEHABEARA ELEBRBEGEEEINEFRT.

[key]l 3% C. more than,

10. [analysis] £ARBH“BEBEHANANRBOBRSAMNET R ZEARHEXBEHN",

X 2

JW 3% connection“BK & ”; ] A. correspondence “if{&”;B. comparison “H.#”; D. conse-
quence “G5ER”,
[key]l 3% C. connection,

fia 3 (=3
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II. Close Test

11. Lanalysis] 28 E R “MRAABRTHALRBE BEFMRLSTAEIRFER". WA
FHRBEMZA until“HH)”,

[keyl 3 D. until,

12, Kanalysis] A F& L h“FHE  MRRATAEN. BEFL&—FREGHEC”. FFXRA—#H,
similarly“[AB”, A. generally “—f@&3#”,B. probably“#i5”,D. consequently “Bi”.
[key]l 3% C. similarly,

13, Lanalysis]  #)F & e £ A1, B A BB BT TR E A A J”, warn B4, 11
B. request “E3K”,C. manage “HH”,D. protect “Z#”, HIAEHFER.

[keyl ik A. warn,

14, Kamalysis] 41F & 8 " B AR SHEME R R RABES M A5 MR R A

PR T, XA N ERLES, without 1E N7 & 89 HE L& 4 4] .
[key] i B. without,
15. Kanalysis] =~ “Ze 85— ) fp AT 3R tH 4R 17 B0 A8 24 o 06 0, N SR, @l o ee <o ” AR X B — 4 %

16.

17.

18.

195

20.

B 5L AR A Ry i A B 0 iZ A “for example”, Tiij A. after all“8#”,B. by chance “{B#R#1”, D
in fact “HEL L7, #HAEE.
[keyl i% C. for example,

Lanalysis] AFEENKRARERRIT, BV EEREEKREGEB, EIEH BT, - "X H
FARAIMNEBRE , because Cof ) “B A", i A. regardless (of) “A”;C. in terms (of )
“YUEFFE”;D. in front (of) “Fpese-- BT, #AX .

[key)] 3% B. because.

Lanalysis] 4 k4], & @A KRiEBERIHEETH”, 0K too much .

[keyl i% D. much.

[analysis} ﬁ‘]ﬁzéﬂtﬂ@%ﬂf‘&ﬂ@é&:— XEBRBRNBEEREP  RUH A EXEL".
L BD L% 4 5 fE B 09 5 SCiR) A X R . safe“ 242", A, firm “455289”; B. calm“E##7;D.
strong “"RE#”, '

[key) i% C. safe,

[analysis] 4% %% S7E F L BAREE TR, ik BAR B A R EAbFE F7, instead
“B187. B. better*H 1F”;C. similarly“R#”;D. further “E#H—#" , A EHE .

[key]l i% A. instead,

Lanalysis] 4] # 0  BARLBERER Y, RE KRB E RBA 417807, then A5, FH
G ¥ . B. otherwise BRI LASE;C. likewise [El#EM#L; D. even HE W AFERE.

[key] ik A. then.

. Reading Comprehension
21,

Canalysis] 303 % 4 20 DROBLR 37 60 &, BT BR D B BB Sh, AR 530 12. 14 B 2

16 AN/NE, SRS A THESF 40 R, ETHRBSHBHES, ATLERBMAE T .
“from can to can’t” 4§15 541 & #9“sunup to sundown (A H B H&)” A X, Bl 8 “from

morning to night(M 5 2K) "I FE R . A. from beginning to end (A3kZ|E);B. from birth
to death (MBS ) ; D. from time to time (REH)FHAESHE .

= B (- b
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22,

23.

24.

25.

26.

27,

28.

29.

30.

31.

32.

33.

34.

35.

o4

BFERXBRTEHFM

[key) 3% C. from morning to night,

Lanalysis] F=BRRI“‘BRBEBF TP FERLH . XFR ¥, BB T RH S
IR B 26887 . B R AR H 10 B9 BE o PR A B (6] 3 3 458 30 P £y (] R

[key]l i A. who are very busy everyday,

Lanalysis] @R “EERBERIESKE 7 EREENBENEKRM é’lﬁﬁﬁ]ﬁ:ﬁﬁlfﬂﬂi
PR, Al i BB O 28 5 45 T AR R L 4K F00RG f ) R 6 0 05 3 7 R Ui, TR ATT N PR BB B 3R 18 SR
K 2 LARE BB RS /738 [ TAE R .

[key]l 3% B. We enjoy leisure so that we can come back to work with fresh energy.
Lanalysis] “RIFEZHEZ N ARRSHEZ AR RRAQAVEREF -BE - DRRAPE
REVIHEXH.

[keyl i A. leisure and recreation are closely related,

Lanalysisl MAXABHMEREXENRE—ON‘RIEFNHERIREMABE.RKS
.

[key]l 3% D. good recreational activities contribute greatly to health, growth and spirit,
Lanalysis] A B BP0 BEESE - A“BEHAERENHRSEZFARAL”.

[key] i% C. the peoples of the world have more similarities than differences,

Lanalysis]l ZERAXTMTRBAERBMFHFON . ERES BB ET BEEERS
FHIER” .

[key]l i% A. is ready to accept what the society offers him,

Lanalysis]l X FRABELHMBHN EBRRHBDBERAREZMA".

[key]l ik C. supply false reasons for their lack of responsibility,

[analysis] %1% “in the long run” GE =B “HaE A" Y in the end (BE . A TR L. A.
in practice 3LBr k., C. in effect IE3L47H,D. in no time & |,

[key]l 3% B. in the end,

Lanalysis] “M X EHAERBHHRAHA " HABHUBR“BRERTHT”.

[key) 3% B. will cheat only themselves eventually,

Lanalysis]  £3(F% T X BUF R B EWH 0 EHD A Z i E SO AR WA, 28
REF-BHBEFRAERESIWFANBNENYNMARED. AMALEFEFRARXFHE
BB REERM.

[key]l 3% C. is necessary but harmful in the long term,

Canalysish M TBA#EWTH . S —BRNE AT EHi, iEEEmAEMHM0EE L
BB N ASEREZ I HE R P H g ER/E”,

[key]l i% C. the tighter the rent control is, the less new apartments will be built,
Lanalysis] [ER“GWEREBS EWE—B" . XEXENRG 5K L ¥ KL
[7) &, F 2 B R R R AR

[key] i D. Economic questions are difficult to deal with,

Canalysis] {2 55 90 0 9 25 B oy L OR300 43 TR 3 0, B R A0 T A subjec-
tive EWA,C. indifferent TR K[>, D. supportive XK . EARFH .

[key]l 3% B. objective,

Lanalysish A HMARM UM ER S HEER SIS H. A argue $, B persuade

=S 3 =9



37.

38.

39.

40.

41.

42.

43.

44.

45,

46.

47.

48.

49,

50.
" [key) judge

BERSET2E®R -+

PR s D. describe #iik .
[key]l i% C. analyze,

PART TWO

. Word Spelling
36.

[analysis} "3 n. s

[key]l square

[analysis} B2 ## adj. p precious fj-ous JJG 4, “H oo FEMER
[key)] precious
[analysis] 48 n. p
[key] pocket
[analysis] {83 v. p
[key] pretend

[analysis] BMEFRW adj. v various [J-ous A FREHR . B Hh“H 0 F

pretend B pre- M ETH . “Hi "2 &,

------ FEEERY” s 4 anxious 8.0 B s delicious EBREY .
[keyl various -

[analysis] $kiRwv. ¢ =

[key)l challenge

[analysis] XM adj. p
[key]l perfect '

[analysis] 8% 0. i imagine ¥ 7] 4 4 4R 15 4 B L Al 5] #8495 .- 40 : imagination 48
2h.

[keyl imagine

[analysis] f& v. ¢~ contain, con 2 RILFL &  4HIRTER . 41 conclude 78 H} 4%
£ ;continue #k4E.

[keyl contain

[analysis} 0 n. b AKENCATPAEIEEIZ. W0 brain i, ear H, eye R s forehead
AU .

[key] heart ) :
[analysis] H&n d diameter ,dia—J& KMt , 8 I AT4E ., W0 diagonal %f £f
2% smeter Fit &, -

[key) diameter

[analysis] @M n b #bIEAYENC W0 - valley 114 gulf 1, lake BISFIHAE1Z .
[key]l beach B |
[analysis] LW adj. h
[key) honest i 8% 6

[analysis] !'R¥F v. insist; -sist HHRIE, B HW, W exist fF7E ,resist HEHi .

[key] ' insist i TEra - ih o ’ ~
[analysis}  BFHBHA »n. 0 BkRKFEATHRIEIZ, W0 lawyer FIH, secretary Hid.
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51.

52.

53. [analysis} 248 v. o 41K omission, JE 21K omissible,
[key]l omit
54. [analysis] Ui n. 1 - law &, -er HERRBUL A G A 2
[key) lawyer
55. [analysis] ###Ev. o__ y-ate Z Al G 4, “ K7 30 : evaporate ﬁ%ﬁ
[key) operate
V. Word Form
56. [analysis] F 15 information Jy ¥, 1) K& W EH B, fl— A0,
[key) is
57. Lanalysis] 17 H&@E had Z 048], kW& £ 30 B, BUREHE, — Ml £6t.
[key)] brought -
58. [analysis] 23CH“REEARFNRENPLEEFREMNGAMNFTERBRH.
HAMNBRREDES.
[key] be understood
59. [analysis] 27BN “ME BPFF X BHE", W (E R BeEE M E N A E s .
[key) to be mailed
60. [analysis] AJHEJ become used to AL to K A-ial , By il 4 181 5K 3 42 171 , 1T use to M ERAE K .
[key) seeing
61. Kanalysis] AR “S0TAE X2 B30 OSSR 30 T R B 10, B R 1 40
[key) accepted
62. [analysis] g A) R “spend time doing” iy /) %Y
[key]l worrying
63. Kanalysis] 7E5 %48, @TﬁFEEHTIB | 7E YRR B 7E 58 K.
[key]l has made
64. Canalysis] B HBOR B AT BUR well B9 HBEGR better,
[key) better ;
65. [analysis) ABABERRMNBAZS CURBAEFIT T, X 50 W AR IE L L85
oM M R ER . ‘
[key] did not have
VI. Translation from Chinese into English

66.

67.
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FERSETEER
[analysis] B M adj. 1 AHRREEE little HRER.
[key)] least
[analysis] R;HO{E n m B —FR{EBKNHIEN information ,

[key]l message

Canalysis] 3304 B A SE 4740 1) it 515 J5 0 £ B804 € X8 .
[keyl It is more difficult for beginners to think in English than to speak in English.

Lanalysis} 853671 2J 48113 1% it was said that, . ZERE R, “R - — B KR BHS LB
B as...as A) &Y, |

=2} B -



